KCL A1009 EUSHARAMETE SR8

2021 fRAMEIEIAH -
> =5 7 H : DVQ20 Spline shaft g5 E(Z1E -
> F 8 H 1 VQ25 RYNFEE - M Dva2s B -
— ZHERSPMH[E] HiERE T2 260 kef/cm? -
> Z11H @O vais Spline shaft g5y BEIE -
@ vQ20 KTEEETE#E R "C
> 13 H 1 va35 KTEELE - HR OB L HETE -
> F14H O VAR STEEIE © HOH RS LA £ 1569.8-569.9 °
(2 DVQ45 KT [y sifisi R &y 55 -
> %15 H  SVQa5 RTEFrE iR E Ry 57.5
> 5520 H - VQ225 HJH No.5 shaft /[ o
> 2523 H :vQ435 KTEEIE » 7 140985 -
> 5527 H : DVQ2215 Y No.1 ~ 3~ 5 ~ 6 shaft [ -
> 5543 H oIt il No.3 & No.5 Spline Shaft » HU/ENo.4 shaft -
> 5553 H : {EIF 50T+vQl5 s K~ > JH 162—155 °

> 5556 I * 150T+TSP AR » iEfiiE K JEIE - 22059158 «




KCL

DVQ Series Single Pump Dimensional Drawing
DVQ RINERNERYTE

2-0 11 HOLES @ 18 SPOTFACER
197.5
DVQ20 Max. Pressure: 260 Kgf/cm2 (Peak) ‘ —
Max. Speed: 1800 rpm CT’?\
6.5 - —-H
DISCHARGE PORT @ 19 - 414 39.7 —
ﬁg 6.5 =
SUCTION PORT @ 32 3 AMIOXLSP - P!
\ | HE - pEEe1_63]. 344 4 s
| _ f
e 3 o 50 | 565 95
g =S ~= 905 [27.5 72.5 725
~. . i ]E[ | 150
% ; = = !
olo Foot Type (RAIEEEY)
by s NO.04-Shaft  NO.05-Shaft A B C
; SAE B Splined shaft SAE AH Splined shaft NO.01-Shaft | ©19.05 21.24 4.76
4-M10X1.5P-DEEP 19 .
- Class 1-3498 b Class1-3498 b NO.02-Shaft | 02223 | 245 | 476
16/32 dp. -13 teeth 16/32 dp. -11 teeth
aPressreangle.  30°Pressure angle NO.03-Shaft | ©22.23 | 2501 | 635
Flat root side fit. Flat root sidefit. NO.04-Shaft Spline shaft - 13T
197.5 NO.05-Shaft Spline shaft - 11T
71 275 57 ~
g 4 ‘ 130
475 9% ) 106
I ] } LJ } i } <| m
= 7%7 i | 32 N L 1
. { = 23 /\N
{ % ’7\\\ =
e o ‘\&‘rj// =
7§7 2-0 11 HOLES
0 18 SPOTFACER

1 DEEP

Max. Pressure: 260 I(gf/cm2 (Peak)
Max. Speed: 1800 rpm

DVQ25

4-013.5 HOLES
0 21 SPOTFACER 1 DEEP

DISCHARGE PORT @ 25 13
o
SUCTION PORT @ 39 \ - é,S 40.7 4%7 g
} 5 o5 ] AT -
IR 24.5 60 | 73 P 120
3 —[’_: 1.5x45° 15|38 55 1 9 o
N 9 - 230
3 Tt~ =
e “ L 9 Foot Type (FAIEEEY)
_4-M10X1.5P DEEP 17 NO.04-Shaft ~ T8 [ cTE
SAE B Splined shaft
Class 1.J498 b NO.01-Shaft [0 22.23] 24.5 | 6.35| 50.5
A-MIZXLISP-DEEP 19 16/32 dp. -13 teeth NO.02-Shaft |0 25.4 |28.18] 6.35 | 50.5
30°Pressure angle. NO.03-Shaft [030.0 | 33.0 | 7.0 | 59
Flat root side fit. _
NO.04-Shaft | Spline shaft -13T
162.5
83 _381] 95 5 171
=R
= <| =
2 ] E B
g I 23
B 7 7 ‘ - = NES
s D&
Q
1 2-0 13.5 HOLES

25 SPOTFACER 1 DEEP




KCL

VQ Series Single Pump Ordering Code
VQ RYIERETEEIES

VQI5
VQ20  SVQ25
DVQ25 SVQ35
VQ35  SVQ45
VQ45  DVQ45
ORDERING CODE &gJtg#g5|
VQIs 17 F R A A 01
Model number | Displacement Mounting Type | Rotation DPischgrge IS’(L)lsclttlS)i Shaft Type
B c.c/rev (It ZEBS N L) Hjl%sﬁ_t-z%n sEONE ILEFEER
VQI5 6,8,11,14,17, View from | . A: 01
19,2326,31,38 ShaftEnd | {jpuward Upward 0
fetmsHR (Normal) (Normal)
6,8,11,14,17, mL B -03
VQ20 19,23,26,31,
38 F: R: B: B:
Flange Type Clockwise | Downward Downward
pvQ2s | 18222632, LT e AT AT
SVQ25 38,43,47,52,
60.65.75 R R
VO35 60,66,76,82, L I,:nti- %%Right Hand %%Right Hand
SVQ35 88,94,108, Foot Type Clockwise
116,125 RIEER st L. L:
VQ45 On Left Hand On Left Hand
SVQ45 136,156,189, V- g
DVO4s | 200216237
SINGLE PUMP WEIGHT LIST (Kg)
EREFER
VQI5 | VQ20 | DVQ25 | SVQ25 | VQ35 | SVQ35 | VQ45 | DVQ45 | SVQ45
Flange Type | 10.3 12.3 18 23 36 33 52 61 66.5
Foot Type 12.7 17 23 31 44 41 60 92 98
A I X 0.9 1.6 1.6 2.0 2.0 3.2 3.2 3.2




KCL

VQ Series Single Pump Dimensional Drawing

VQ RIIERNERTE

VQI5

DISCHARGE PORT @ 15

Max. Pressure: 240 Kgf/cm2 (Peak)
Max. Speed: 1800 rpm

2-0 11 HOLES

176

0 18 SPOTFACER 1 DEEP

)

13 ;t‘ 315 i
SUCTION PORT® 30.8 \ 4-M8X1.25P 5 . lr ‘ -
112 - - A - os
r'-** DEEP 17 :rD = JJ’ \J ‘ &
- g | 17 /J \ s
I ]
© I L it !
= 50 55 95 ‘
08 loas 72.5 72.5
180
B ~ NO.03-Shaft
A
SAE AH Splined shaft Foot Type (RIEER)
4-M10x1.5P-DEEP 17 Class1-1498 b
16/32 dp. -11 teeth A B C
30°Pressurean_gle. NO.01-Shaft |@19.05| 21.24| 4.76
Flat root sidefit. NO.03-Shaft | Spline shaft - 11T
176 NO.06-Shaft | Spline shaft - 9T
56.5 25 44 B 364
_g_= - 133.5
35 N 7 106
PN Y <| = 125 | NO.06-Shaft
7 20 [ o ——
2 % 32 =~  SAEA Splined shaft ‘
o3 Class 1-J498 b N
= } } —I i —| 16/32dp. -9 teeth
§ == 30° Pressureangle A
% S Flat root side fit. N
2-0 11 HOLES kJ
0 18 SPOTFACER
1 DEEP
V 2 0 Max. Pressure: 230 Kgf/cmZ (Peak) 197.5 4-0 13.5 HOLES
Q Max. Speed: 1800 rpm 67 @21 SPOTFACER 1 DEEP
- T - T
DISCHARGE PORT 0 19.05
3, 45 -
SUCTION PORT @ 31.75 \ g 32
n 23
© ki %}#
60 | 73
= Il ! c 115 LSS
N Foot Type (RAIEEEY)
4-M10x1.5P-DEEP 17
A B C
4-M10x1.5P-DEEP 19 NO.01-Shaft | 22.23| 24.5 | 4.76
NO.02-Shaft | @254 | 28.18] 6.35
NO.03-Shaft |@22.23| 24.94| 6.35
197.5 174
67 28 59.5 o e
‘[ { 29 %<
‘ 50
N s i B
| | 46
F<
= — < an
2
: N

2-0 13.5 HOLES
@ 25SPOTFACER 1 DEEP




KCL

VQ Series Single Pump Dimensional Drawing

VQ RIIERNERTHE

VQ35 Max. Pressure: 210 Kgf/cm® (Peak)
Max. Speed: 1800 rpm g_?elg;oligkgsékl DEEP
21 55.2
DISCHARGE PORT @ 30 AMIOXISP 79 38 f \
SUCTION PORT @ 56 Un DEEP 19 \ N ‘ =
% 7 3 2.3x45° ‘ KJ ‘ o
I (=}
@\ 2 &) - . - > 4 =
e ™ || o € |
~ U = z 151 al
N/ 117.5 117.5
]| 40
429 L 302 NOO3—Shaft Foot Type (ﬂ’a‘u@ﬂ)
: SAE C Splined shaft
4-M12x1.75P DEEP 19 Class1-J498 b
12/24 dp. -14 teeth A | B | C
30° Pressure angle. NO.01-Shaft |@ 31.75[35.32| 7.95
Flat root side fit. NO.02-Shaft |@ 34.9 |38.56| 7.95
NO.03-Shaft | Spline shaft -14T
213
279 .
90 37 g =
75 FIES —
= AR 63 < J/\l
& % _ 47 5 / \
lﬁ _— 7 a N a 3
2 5 2 N - 2
fia : DN
%‘ Jj 2-0 17.5 HOLES
$L 026 SPOTFACER | DEEP
SVQ3 5 Max. Pressure: 210 Kgf/cm® (Peak) 278 10 17,5 HOLES
Max. Speed: 1800 rpm 97 12 26 SPOTFACER | DEEP
21 = [ ] ()
DISCHARGE PORT @ 30 . % I ‘ “h
9 4-M10X1.5P_DEEP 19 L‘ /\
SUCTION PORT @ 56 -t — l%j | A -
L\ 5= A AIRFE
2 =i Y
E oo | bl S et | e
|}
¥ s 1762 88 151 e
0 /ﬁ\ /ﬁ \ I ] 50 117.5 117.5
= \\/ \ N / \ =1 % 131
& @/ ¢ ‘
J 13
% i ] 20 Foot Type (JEER)
\
429 1—30.2
4-M12x1.75P DEEP 19 A B C
NO.01-Shaft |@ 31.75] 35.32 | 7.95
NO.02-Shaft |# 34.9 |38.56 | 7.95
278 213
97 37 gl = 181
75 23|93
%' i i A i 63 <| m T
g i ‘ 47 ,(/ N
z 1% I 23 9 ~
= — 5 5, i AL 2
r\=3 g z,/ Qy [\ pa
& i -
2-0 175 HOLES NJ 13
o
*L 0 26 SPOTFACER -




KCL VQ Series Single Pump Dimensional Drawing
VQ RIIEBRNERYE

Max. Pressure: 175 Kgf/cmz(Peak)

VQ 5 Max. Speed: 1800 rpm ‘ 336 4-0 17.5 HOLES
026 SPOTFACER 1 DEEP

1102 135
DISCHARGE PORT 0 38 :;f?
SUCTION PORT @75 MIGX2.0P-DEEP 19, = |
— !
= \\ —y o & § ‘ )
| H o TS 7
| 7z I R e
e
izt
N (] e
= NV I — 762 | 95
J 59
\ | 131 ‘
% 4-M12x1.75P-DEEP 19 Foot Type (RJEERY)
61.9 viq|
336
102 135 ‘ 211

2-@ 17.5 HOLES

T

98.5

+0

9127 -0.05

187

: ’ 4-0 22 HOLES
DVQ45 i 0 43 SPOTFACER 1 DEEP
Max. Speed: 1800 rpm i
D | — (] }
| NN
4-M16x2.0P-DEEP 19 ;4_L .
SUCTION PORT @ 75 61.9 357 P N
| g 114.3
=2\ g =3 3
haatlilzin=2
ARSIy \
3 \*\ﬁ \6&% Foot Type (HJEERY)
W | i
N
= 273
N - 228.6
43 83
EE r\L‘—‘ﬁ4}x_/,\
} ﬁ': ?j ?3 i‘)ﬁ ‘ i /‘
@1‘—‘7#} 70 § E %
i ! | ||
” e (a1,
= | e : & :
W E
B 0 | il

4-0 22 HOLES
0 35 SPOTFACER 1 DEEP

(T[T

fo.




VQ Series Single Pump Dimensional Drawing

KCL VQ RIERNURTE

. 2
Max. Pressure:175 Kgf/cm™ (Peak) 543 SPOTFACER T DEEP
\

SVQ45 Max. Speed: 1800 rpm :L% ‘
B s

]

13 W ‘ r Ky T

4-M16x2.0P_DEEP 19 —
61.9 35.7
SUCTION PORT @ 75 -
l iﬁ

187.3

327.3

69.9
+0

374.6
438

%
\T

9.54 -0.021
I~
W

W

Ne}

i < =

106.4

Foot Type (BiIEERY)

390 273
166.5 131 228.6
50 81
=] § x
| T3 o3 4 ! 1
L S 7 E— N\
= \NZ ‘ \SZ

218

9 152.4 -0.05

115
0 38.1
42.36
+0
140
(A -
Qy
228.6

(OT

4-0 22 HOLES
@ 35 SPOTFACER 1 DEEP




KCL

VQ Series Double Pump Dimensional Drawing

VQ RINERNERYTE

DISCHARGE PORT
VQ22 5 P20 245 £ 23 358
SUCTION PORT 0 56 - 109 109 106
. | 5 T T T\
4 e 23 kB ‘
&, ® © | —
ol = / i o < \ —
ST ' 5 NE. —
hiakivawat L
)
3 ‘ 1) [ A
13 60| 73
4-M10x1.5P | L__ 50.8 4-0135HOLES L
DEEP 18 262 362\ 410kl 5P 021 SPOTFACER 115 | 38
4-M12x1.75P D;?%Hz‘zRGE FORT DEEP 18
DEEP 19 Foot Type (RJasa)
o5 407
ET |24 A B C
EJ‘SX“C’ SI\AI(I)E(I)34S|h22;t et NO.01-Shaft |0 22.23| 245 | 635
1 Splin t NO.02-Shaft |0 25.4 | 28.18 | 6.35
Class1- 498 b NO.03-Shaft| 030 | 33 | 7
16/32 dp. -13 teeth NO.04-Shaft | Spline shaft 7/8" -13T
30°Pressure angle.
358 Flat root side fit.
108.5 109 381 68 ‘ 173
T 55.5 146
S ] ] -
. I ST o
~ z ~ 0
] ] H miln 2
] g = ‘
25 75| °
: n IS A &
2-0 13.5 HOLES ]
025 SPOTFACE | DEEP
SVQ3 15 4-017.5 HOLES
026 SPOTFACER 1 DEEP
DISCHARGE PORT P1 0 30 21
SUCTION PORT 0 78.5 E—B N I\ .
3 : a
DISCHARGE PORT P2 0 19 . 23 j i §
/ | 4 | R ‘ b B
% - | s o
[ s j
< M ‘ <« \ 1 ~ 1175 _|_ 1175
o~ —
> g w g / E 1% 274
P =
T > | €
% ‘ @ Foot Type (BIFEERY)
22 [
61.9 A B
4-M10x1.5P DEEP 19 302 NO.O1-Shaft |@ 31.75/35.32
NO.02-Shaft | 34.9 |38.56
4-M16x2.0P DEEP 19 4-M10x1.5P DEEP 19
380 | = 214
120 12 g7 -
—1*37* 75 <| m
g ; e o /—‘—\
I I
P I 40 o
e B I || =
% ‘ .\I = /B\ =N o
*® = - - *—H> M il \ iy
—' ;g g | // Qy \ // '_‘

2-0 17.5 HOLES

@26 SPOTFACE 1 DEEP




KCL

VQ Series Double Pump Dimensional Drawing

VQ RINERNERYE

VQ435

DISCHARGE PORT P1 @ 38

SUCTION PORT @ 101

I/

Jaz5a
Res=%

4-M16x2.0P DEEP 19

DISCHARGE PORT P2 @ 30 ™

21 13
it
] _8
L= <
[=2)
T
BV =N
| \ e — |
/ [ ——>
J
|\
35.7

4-M12x1.75P DEEP 20

4-0 17.5 HOLES

506
179 13651 8 26 SPOTFACER 1 DEEP
I |
EERS L
Ty [ [
EEI — I "
Li * . g
T o 11 * 1 -
76.2] 95 T s \
13159 1175 ]_117.5

Foot Type (BIERY)

4-M10x1.5P DEEP 19
302
506
179 136 51, 83 |8 e3 211
e 181
— el
oo : ‘
J L — 67 g < .
ol (el | :
(=)} v [=N
d I I | = S
’% 1 o~
N
\O\H/ TF = 2-0 17.5 HOLES
L@\ ’L 0 26 SPOTFACER 1 DEEP L
3
DVQ43 5 301 4-022 HOLES
179 13643 83 0 43 SPOTFACER | DEEP
67
30013 — &
SUCTION PORT @ 101 = §% an 134 T
I
23| <2 r @ WJ[: 6“ -
- — ~
L +| % Kj « &
T/% %\ ie S < ! ref—z g
\ = %S + + N
9 ! \ 1 R t
o N I — b i
- KJ \@é ‘ S 280 B
fazsa) e | X\, % S 374.6
@ﬁ/ 438
4-M16x2.0P DEEP 19 77.8 357 |
DISCHARGE PORT P1 0 38 Foot Type (BB
4-M12x1.75P DEEP 20
DISCHARGE PORT P2 @ 30
4-M10x1.5P DEEP 19
501 273
179 y 136 43 83 _§_= 2286
= 2| < U w—
22 1 g
I = 3
£ o ﬂm <
QN E S
M :

,t
4-0 22 HOLES

@ 35 SPOTFACER 1 DEEP

%‘




KCL

VQ Series Triple Pump Dimensional Drawing

VQ RII=BRANERTE

DVQ2215

12.7
Ml 19.0-DEEP-4 HOLES
M10 x 19.0-DEEP-4 HOLES 0x19.
M12 x 24.0-DEEP-4 HOLES 9.7
50.8
MI10 x 19-DEEP-4 HOLES H 55.2
26.2 h M 38.1
1 &) 8 v
P g —— =~
< ! / R f p (] j =
= (]
s |
7@ | 2.3x45°
[s:056 NO.7 Shaft
P3:0C P2 0 19.05mm P1: @25 4mm splined shaft Class
Peak. : 240 Ko/cm?2 5 B 1-J498 b 12/24 dp
cax. g/em Peak. : 260 Kg/cm Peak. : 260 Kg/cm o
. /em? ; 5 -14 teeth 30° pressure
Cont. : 210 Kg Cont. : 210 Kg/em? Cont. : 210 Kg/cm .
a angle flat root side fit
B A B
P3 01 38.1 17.5 015
02 47.6 22.2 |0 19.05
174.5
146 357.2 71.4
73 95.06 93.6 103.1 38.1 1 9.7
| ‘ | B 1l7o
g ! L +0
< T— ﬁ%‘ ‘[\ - ! Key6.35 45
0 5% D %‘ S = @ 38.1| /" M8 x 16 DEEP
fan ﬁﬁ h | <
N2 —
013.4 3 15x45° o3 =
- <
[ o
MOUNTING TOROUE 117-t1b MOUNTING TORQUE 117ft.lbs
-ft.
< (159 Nom) (159 Nm) NO.2 Shaft
MOUNTING TORQUE 40ft.1bs
(54Nm)




KC L Variable Single Pump Dimensional Drawing
BERNERYE

VPKC-F30

Pressure Adjustment

LY
& B Case Drain PT 1/4"
4-0 11 T
2-M12x1.75P
4 I7an\y .
% Y o
PT 12" (] 0
Discharge Port ” 476 .0.021
ouT . . T
= g =
| A A= ‘s TN
N 2P 8 Gl
| 15 S
PT3/4" I g 31905 0
Suction Port PN L T -0.021
! NO: 01 Shaft
36.5 25
%0 615 36
60 60
152
73
VOLUME ADJUSTMENT

42738
- + 7

NO: 03 Shaft NO: 05 Shaft
SAE AH Splined shaft SAE A Splined shaft
Class 1-J498 b Class 1 -J498 b
16/32 d.p. - 11 teeth 16/32 dp. - 9 teeth
30°Pressure angle. 30° Pressure angle
Flat root side fit. Flat root side fit.




KCL

50T&150T +VQ15Series Pump Dimensional Drawing
50T & 150T+VQ15 RIIRANBIRYE

50T+VQ15 (Foot Type) faIEzEY A|B[C|[DJ[E
NO.01-Shaft |@ 19.05] 36.0 | 4.76 | 21.3| 32.0
NO.02-Shaft | @22.0 | 46.0 | 5.0 | 24.0| 30.0
NO.04-Shaft | Spline Shaft- 30T
| o | ] _
[ e
I an I 2 o =
W N ’ )
,% 4-¢ 11 HOLES o
%L @ 24 Spotfacer 1 Deep
T 10 1 =
50 1295 —ji-l 116702 47
93 145
A B C D E F
+ Ne t=1=4]| NO.01-Shaft |@ 19.05] 36.0 | 4.76 | 21.3| 32.0 | @ 95.02
SOT VQ 1 5 (Flange Type) liﬁa:: NO.02-Shaft |#22.0 | 46.0 | 5.0 | 24.0| 30.0 | ©@96.02
4-M8x1.25P B i -
SUCTION PORT @ 30.8 DEE;‘IS NO.04-Shaft | Spline Shaft - 30T 2
415 565 155 B 140 2
. 50 3 119
DISCHARGE - e i PT 3/4"
PORT 9 15 %15 PT 1" | Discharge Port H
| ] .
K | E_3. Suction Port i
midh 1 s
Sl [P COHE ffﬁ - //(@)\ 1 :::2
@ \\i / Q i %& - Y /L] = Shaft NO:04
o A i = U cp.1.633
| < +D I | Pressure Angle 45°
4-M10x1.5P o ML 75 30 Teeth
PEEPLT %2 175 ‘ DEEP 19
150T+VQI15 (Foot Type) FaIEEEY
56 199.5
— ] |
£ _ PT1 172" PT 1 1/4"
’Eg ]@‘ﬁ e - g Suction Port Discharge Port
AR o g
1D N e K\, — 2 ° )
oy [ THE Y g H ]
8 ™ ‘ 4-013.5 HOLES 2
e @ 25.4 Spotfacer 1 Deep n
T T | =
114 |13 50, \ 50
140 [ 197 ]
‘ 226
150T+VQI15 (Flange Type) ;&REEY
- 365
( L 565 152 60 543 0 13.5x6 HOLES
I s PCD 0 187.5
SUCTION PORT 1y 1sCHARGE ‘
0308 PORTO 15\ | 18]
o 35
o N |2
:- ?\\ RN EE
N — f - - T
Sks L/ @\& % s S
&) ‘ig?; [S)
4-M10x1.5P " S
DEEP 17 262 7.
4-M8x1.25P

DEEP 15




KCL

50T & 150T+TSP RIIZANBEIRTEH

50T&150T +TSP Series Pump Dimensional Drawing

50T+TSP (Foot Type) FIEEEY

A

B

C D E
NO.01-Shaft @ 19.05] 36.0 | 4.76 | 21.3 | 32.0
NO.02-Shaft |@22.0 | 46.0 | 5.0 | 24.0 | 30.0
140
—n] g N s
4-0 11 HOLES h&
@ 24 Spotfacer 1 ‘
Deep L T 2
——’47—-1 Voo 47
116 55
145
A B C D E F
NO.01-Shaft |@ 19.05] 36.0 | 4.76 | 21.3 | 32.0 | @ 95.02
NO.02-Shaft |¢22.0 | 46.0 | 5.0 | 24.0 | 30.0 | @ 96.02
FT 1" 140
106 18 Suction Port 119
4 18'021 5 PT 3/4"
Discharge Port
| % \
7 J Se T g = e
) v T -
5 3 S ot e S g
\'fo { “ vz +d - L
W _
0 15.88 g0n1 4011
2-M10x1.5P
DEEP 15
150T+TSP (Foot Type) BaIEzHY
56 199.5
— |
_ PT 1 1/2" PT 11/4"
O§ Suction Port \@% Discharge Port
[ T
ran\| 1= . -
% % E% s - \) T s ¢
w)
| 4-0 13.5 HOLES S
| @ 25.4 Spotfacer 1 Deep -
T T | =
114 13 0, 50
140 ‘ 197 ]
‘ 226
150T+TSP (Flange Type) ;A&RSAY
288
0 13.5x6 HOLE
172 43 PCD 0 187.5
4.0 15
$ — 235
T s
—- — TS
S] a o 2 @
g = 2
| ST S
015.88 %! i ‘ § a
2-M10x1.5P




	A1009  2022.pdf
	A1009  2022.pdf

